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Seating Arrangement Questions for IBPS Clerk Pre, LIC Asst., SBI Clerk 
Pre, and RRB Asst. Pre Exams. 

Set No 57 
 

Directions: Study the following information carefully and answer the questions given beside. 

Eight persons namely - A, B, C, P, Q, R, S and T are sitting around a circular table facing the centre, but not 
necessarily in the same order. There are only three males in the group. 
 
C sits third to the right of Q. R sits second to the right of her husband T. T is not an immediate neighbour of Q’s 
wife. The wife of Q sits second to the left of her husband. S is not an immediate neighbour of Q. P is a male 
member. B is not an immediate neighbour of S. No two males sit together. 
 
 

1. What is the position of P with respect to T? 

A. Immediate right  B. Second to the right  C. Third to the left  D. Third to the right 
E. None of these 
 

2. Which of the following statements is true? 

A. C is one of the male members of the group. B. Both the immediate neighbours of R are females. 
C. A is not a male member.    D. S sits third to the right of B. 
E. None of these 
 

3. Who among the following is wife of Q? 

A. S   B. C   C. T   D. A   E. None of these 
 

4. Which of the following pairs represents the immediate neighbours of P? 
 

A. A, B   B. R, T   C. C, S   D. S, R   E. None of these  

 

5. Who among the following sits opposite S’s husband? 

A. A    B. R   C. C   D. T  E. None of these 

 

 

Correct Answers: 

1 2 3 4 5 

D C A D B 



 

 

Common Explanations: 
  
Reference: 
C sits third to the right of Q. 
The wife of Q sits second to the left of her husband. 
 
Inference: 
So, Q is a male member. 

 
 
Reference: 
S is not an immediate neighbour of Q. 
T is not an immediate neighbour of Q’s wife. 
 
Inference: 

 
Reference: 
R sits second to the right of her husband T. 
 
Inference: 

 



 

 

Reference: 
P is a male member. 
  
Inference: 
As, P is a male member, so, he cannot sit between T and Q (two male members cannot sit together), also P 
cannot sit to the immediate left of Q. 

 
As, S cannot be the immediate neighbor of Q, so, S must be the wife of S. 

 
 
Reference: 
B is not an immediate neighbour of S. 
 
Inference: 

 
 
 



 

 

Answers : 
 
 

1. Following the common explanation, we get 
 P is third to the right of T. 

Option D, is hence the correct answer. 

  
 

2.   Following the common explanation, we get 
A is a female member. 
Option C, is hence the correct answer. 

 
 

3.  Following the common explanation, we get 
 S is wife of Q. 

Option A, is hence the correct answer. 

 
 
4.   Following the common explanation, we get 
 S and R are the immediate neighbours of P. 

Option D, is hence the correct answer. 

 
 
 

5.  Following the common explanation, we get 
 R sits opposite S’s husband. 

Option B, is hence the correct answer. 
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